EARAZROREIERT — 2 N—XBISY —F 20145FE8F14H (&) o[EEFE2H

B 3mB2—#H 5% 3m ‘ [Xiz] % ‘ [eErsm]  — | & (%) 14000 B
[AE£] 17 :240,000 " ~ 27%:48,000”  337%&:24,000” . 43%&:17,000 M 53 :7,000 H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. o o= e BERRE :26. - . - FEEE (KR)
1:E g4 X raOTSAE 3 556.0 1(2_6)2 1-1 37.6 1 (4_716) =
L:ANKZATNG B A4T7AT—ILK 7=
o e # 3 | BREE 1:26.5 3-2 37.5| — 4 471 | AR OKR)
2 gl 77 RTH— 56.0 @) (6) | PEERIE
LT RIAYTvIN> BT v —T%2R ALTINT 7 — L
fb 3 | WAESEE 1:26.5 2-2 37.6| — 3 460 | EBEHE (KR)
- MESEVE 54.0 (7€) (+1) | VEEEBA
L:Zg—)rdO—x B:aAYIANT RS FE AR
¢ ft 3 | WUABEE 1:26.8 5-5 37.6| — 2 459 | #F=— (KiR)
4|55 A= 54.0 (11/2) (+3) | BAHER '
RFATAT v — By IXAV—Fa FHRE%S
— . s - = =Xy : — — 2IL1E— (KR)
5177/ 7>vam7475 e Es e A T | s
R:T7HIHFLIY B4y LIUAR ElSirie]
N S HER :27. = . — #EE (KiR)
6l1lq]g>zxbon—7z it 3 5 1(247)9 5-4 38.7 6 (‘fg) i
RiYsh—> BSLI-—uACR ZH EC
TR — : — — HHEE= (BE
; 6| vET i 3 T 1.(248).6 3-7 39.5 5 ?gz)s o=
R:ZAZXH= R B:I73L0— [QCRSDE ¢ ]
- TEE . . - BERE (8F)
8 o Vv I— it 3 e 1(/72?:? 9-8 39.1 8 51:145) i
RivYULTyk BTRA STy KT AIE A
o 4 3 | KPR 1:29.7 5-9 40.1| — 9 378 | fEAARE— (KiR)
9/8/9 Uros 54.0 @) o) | B x24T
QALY aE=T— Bivs— 58— K- A s
® I—F—@EBIERL
13—-7-
23—7F—
T =35r= 3,4,(6,8),(1,5,9),7,2
41—F— 3,(4,8),1,5,7,6,2,9
[ RN
B 3 260/ 794K 3-8 230 & 3-8 740M &R 3-4-8 1,380M
# B 3 1204 3-4 210M B E 3-8 670M EE 3-8-4 5,610
8 130H4 4-8 390M B H 3-8 1,190/
4 1309

ABICOVWTRDTEEERROODE. TR LIV,



